‘How much...?’ Shopping

bananas pineapple cherries grapes pear strawberries apple
Match the words to the pictures Choosg whether
A or B is correct.
A. How much is it?
A bunch of bananas 20p
B. How much are they?
A. How much is it?
An 30p
B. How much are they?
A. How much is it?
A 10p
B. How much are they?
A. How much is it?
A bag of £2.00
B. How much are they?
A. How much is it?
A bag of £1.20
B. How much are they?
A. How much is it?
A 25p
B. How much are they?
A. How much is it?
A bunch of £2.00
B. How much are they?
Practise speaking with another student.
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‘How much...?” Shopping Answers

Match the words to the pictures Choose: whether
A or B is correct.
A. How much is it?
A bunch of bananas 20p
B. How much are they?
A. How much is it?
An apple 30p
B. How much are they?
A. How much is it?
A pear 10p
B. How much are they?
A. How much is it?
A bag of strawberries £2.00
B. How much are they?
A. How much is it?
A bag of cherries £1.20
B. How much are they?
A. How much is it?
A pineapple 25p
B. How much are they?
A. How much is it?
A bunch of grapes £2.00
B. How much are they?
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